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* Sfull marks for the questions.

Answer either in English or in Assamese,

1. Choose the correct option/Fill in the blank :
. ’ | ' 1x7=7
w7 TeI0! A Brea/ AN $1% o7 = 3

(a). When using sign test, if two scores are -
tied, then

‘B I YT I@I© nﬁ WOl FRY G
=, (o™
(i) we count -them

oif st st :
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(i) we discard them
i am e -
(iii) it depends upon the scores
'36‘4 RN TR oS 6T T
(iv) None of the above

@HT] «oI8 T/

If a Chi-square goodness of fit test has
6 categories and N=30, then the
correct number of degree of freedom is

I Bt FR-391 P 4TS 651 [y o
CP TIE N=30 =, (ST ¥og al '3
G 5 ' h

) 6

(i) 28
(iv) 29

Compared to parametric methods, the
non-parametric methods
UGS 7T Goite o- -5 S ﬁaﬁl%m{i

(i) are less accurate '

o i

(i) are less efficient
T
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(@)

(e)
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- comparing the

_(iii) are computationally easier

AT 2 - |
(%) (i) and (i) are correct but not (i
(ii)‘WR: (iii) &% ﬁsz.(i) Cev

if ap<4)B) (A>(B)
between two attributes A and Bis

Ift AB<(A)(B) W, (90T To! @ A % |

then the assomatlon

| B-am@ﬁmia

) 0
0

(i) positive
RO

(iii) symmetric
e

(iv) negative
BRIV

ANOVA is a statlstlcal method of

of several
populations. . (Fill in the blank)

(IS FRY — T R R
WW%WMANOVA; .
(T 32 o7 7 )

Contd.

,_



‘ (f). . 'Co'nsi,dcr k independerit s_émples each - 2. Answer the fdllowing questions briefly :
~ containing ny, ny, ... , ny ittms such that a o 2x4=8

n +ny+...+n, =n. In ANOVA, we use WW@WWW"
~F—d1str1but10n w1th ‘degree of freedom

1 28 k‘ﬁ‘lmﬁ%‘f“ﬁﬁ%@? ni, ng, ...

_ {a) Define type I and type II errors Wlth

examples
nkﬁcﬁﬁanmszwnl+n2+ Ang=n QI - o am««@%wﬁ@n««@%a%m«
-aima ANOVA-I [ F-a«%aammi 3 e e fam | .
: (i) k=1, n-k . , (b) Mention three basm principles of design -
i) k-1, n-1 o . of experiments.
(iii) k-n, n-k : : WW%%%WW:
(iv) n-k, k-1 : , (c) Explain sign test for symmetry.
(g) The probablhty of type I error when | RS crae %5 SASTICE! It 4|
- @=005is {d) Define association of attributes. .
o= oos-amqﬁ%«%@i%a%ﬁm QR TFFI e |
AT | : |
) 0025 - - | 3. Answer any three questlons from the
() 005 B followmg 5x3=15
(iii) 095 | ) ] @? © FRieiRa Rtz A5t e Sew o 3
(iv) cannot be de termme d without (@) erte: down all the conditions for the
more information | validity of y2-test of goodness of fit.
O 92 WegE W G - P bl R orae TR ol
o T Be T T 2% R eTR S 3
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(b)

e}

'In a large city A, 20% of a random

sample of 900 school children had
defective eye-sight. In other large city
B, 15% of random sample of 1600
children had the same defect. Write

- down the required hypothesis and

hence verify whether the difference
between two proportions are significant.

G4 OIET BRI A, 900 BE-TaR fowwe 20%
s Aol whge 1R «few amd e

T | BH-9% 5T B-S, 1600 YRR foess

15% Afoes ef Sy O g3eir & ot cotfat
ﬁm%‘ﬂqvm@iﬁmwmwm

-m&mmﬁs@lﬂw«n

What ‘do you mean by vYates’
correction ? Can we apply the same to
every 2 x 2 table even if no theoretical

cell-frequency is less than 57

4+1=5

WW@ T B e 2 x 2 e €3
B3R @ et 3R MRl 7' e erer
IR 5-B 05 3 gy 2
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(ii)

(i)
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Given the frequency distribution —

Flx, 8)= {1/0 - 0<x<0

, otherwise

~and that you are testing the null

hypothesis Hj : 8 =1 against H,:6= 2
by means of a single observed value of
x. What would be the sizes of type I

and type II errors if you choose the
interval as follows ?

() 0.-5zx

1<x<1.5
as the critical region

Wamwquﬁmm—

1/6, 0<x<@
£ 0) { O, otherwise
<ot R oom H, : 0= 1-3RAt% H,:9=2

91! IR RN LR TS -3 @R B (el
T fran o) e e @ e st o
SoT APR R 23 IR IR oore
$J0 T

i) 0-55x

1<x<1-5
T oFa ol
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¥ ‘ s :
1, - e | . o © 6 Two sample polls of votes for two
I - (e) " Fillin the blanks of the following table : _ . candidates A and B for a public
T L oo e W o Q0 3 | office are taken, one from among
i e ﬁ , & : ~the residents of rural areas. The
| Source  df Sum of squares Mean squares F results are given in the following
"X 6 A — I aﬁmﬁ’tmﬁa«mwmﬁAww
v - | B Fifbe ite <ot efond cols oz
SR R R TN | TATPHE &1 SRS fat
Error (&) - - 10160 - | | ot |
Total (;Ih)' _60 _ 18225 ] o Vote for (o) Total ()
‘4 A | . Area (@) | - A B |
. Answer any three questlons from the : : |
¥ Urban (°R) 550 450 1000
Total (9) 1170 830 ~ 2000
(@) Dlscuss the analysis of randomized , —
block design (RBD).: 10 B ‘Examine whether the nature of the
. | ' 1 area is related to voting preference
W 8 "’@“ﬁ ST Rpsme SCen . in the election. 6
w' - (Table value of ¥2 for 1.d.f. is 3-841)
(b) State and prove Neyman-Pearsont - - o T @ COIGAFN 40T TP
fundamenta] lemma. . 10 . | e 5{\:9@ 7% T3 @ =)
2-35( OIfeRIge T 1 Fo T i
Fo-Praee1 cifere @ %
=) A ! ol S o . il wicg 3:841)
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d) (i)
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() In a series of houses actually
invaded ‘by smallpox, 70% of the
inhabitants are attacked and 8_5%
have been vaccinated. What is the
lowest percentage of the vaccinated

that must have been attacked ?4

T UiRg ARl S oy SRR 70%
SR SR (arg @i 85%
Aeraee ol iy efraee o=l
RO e et T STeRE (X2
Sfrei | '

Write down the hypothesis tha,lt IZ
tested in completely randomise
design (CRD). Hence write doW-‘:
the AOV table. 2

T Afoes o S "‘iﬂ
SRR elRmarg el | 21 72
Resd eiftrerm aes w1

. +n cas€
Estimate the missing value i € 5
of CRD.

T4 A o e A PO
O w01 wriceie <0 |

| (1)

10

(e)

An insurance agent has claimed that
the average age of policy holder who
insure through him is less than the
average for all agents which is 305
years. A random sample of 100 policy
holders who had insured through him

gave the following age distribution -

10
G T GTETS vt T @ (9%F 7 Ay
I AT T A W SIS T aTG
T (30-5 T=F)-B(F | @Bl 100 & el
WWW@@%WW%
TR, TR A% wero 77

Age at last birthday : 16-20 21-25 26-30 31-35 36-40
(@RI TS )

No. of persons Pl D0k 0y 30 16

(T )
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Calcualte the arithmatic mean and
standard deviation of this distribution
and use these values to test his claim
at the 5% level of significance.

[You are given that Z(1-65) = 0-95]
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a‘%mﬁmm&xwwﬁwmj
S @ o JaRR R Tt e o T
5% AT TT© #iSrw 39|

| [mm2(1-65)=0-95]
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